DPDETERMINERS

1 Complete the sentences using both or neither.
1 were tired so they decided to have some rest.

2 They felt asleep and of them heard the impact:
3 After a couple of hours discovered a big hole in the garden.
4 They wanted to discover what had happened but

of them dared to leave the room.

2 Complete the sentences using all or none.

1 cars have wheels.

2 of this money is mine.

3 that money belongs to my friend.

4 Simon thinks museums are boring.

3 Look at the image and circle the correct option.

1 All / None of the lollies are ice cream cones.

2 He is eating Both / All of the ice lollies now.

3 Neither / Both lollies in his hands are melting.

4 All / Both the lollies in his mouth are from different flavours.
5 Neither / None of the lollies in his mouth are melting.

of the criminals are older than thirty.

of the four criminals looks happy.

number 1 and number 3 have moustaches.

of the tall criminals is wearing glasses.

of the short criminals are wearing a shirt.

O M b W N =

of the criminals have a lot of hair.
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